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BEANRE SHSEEMABRENE

£ g g - BKTE BfT 8 2 i ki £ m =
EEI=E 5,264,010
BEXHE 5,264,010
FiERA=E 5,264,010
FiERA=E 5, 089, 595
Bl =X fE 486, 279
1 BlE%E 1.00 321, 887 321, 887
=
2 BEMIENRE (1) 2EEL Y 1.00 82,196 82,196
=
3 BEAIENRE (2) 2EEL Y 1.00 82,196 82,196
=
KRB = 2,132, 296
4 BETXE) 1.00 229, 096 229, 096
=
5 BETX Q) 1.00 652, 431 652, 431
=
6 KFBEMDOD 20.70 14,516 300, 481
km
7 KFHEMDD 65. 00 12,521 813, 865
km
8 KiFEHI=E(2) 0.24 568, 430 136, 423
km2
Wi - |E 120, 500
9 ERTiRE 1.00 73, 000 73, 000
]
10 &|E 1.00 47,500 47,500
]
[5Z] 2,350, 520




BEANRE SHSEEMABRENE
2 o] 1B - AR Bif B ff ] % =

11 S|ESER (1) 1.00 1, 260, 257 1, 260, 257

=
12 S|REZER (2) 1.00 1,090, 263 1,090, 263

=
EERE 174, 415
RE& 2,415
13 k& 1.00 2,415 2,415

=y
mE 130, 000
14 :5RE & 1.00 130, 000 130, 000

oo
BIREE 42,000
15 ETEERE 1.00 42,000 42,000




wits SHSEEBAREAE

% g R - KSR Bifr B 2 B i & B W =
EENEE 5,264,010
HEHE 5,264,010 x 70.9% — 6,193 3,725,990
AEEEE 5,264,010 + 3,725,990 8,990, 000
BB E TS 8,990, 000
HERSELE 8,990,000 x 10.00% 899, 000
AEEBE 8,990,000 + 899, 000 9, 889, 000
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SHSEEM B

REAE

&5 1
&% BIEER 1LY
2 b g - BIRTE By = BHO(f %8 W = " =
BIEFEHEM
A 2.00 51, 000. 00 102, 000
RIS HRER
A 3.00 44,000. 00 132, 000
Bl S H A
A 2.00 34, 300. 00 68, 600
BEBF
A 0.50 32, 200. 00 16, 100
MR 2E0%
% 1.00 318, 700. 00 3,187
& B 1YE%HeH - 1.00K 321, 887.00 321, 887
&5 .2
£ BMERA) 2FEZRY 1LY
2 b g - BIRTE By = BHO(f %8 W E " =
BIEHEE
A 2.00 217,000. 00 54,000
FSvo 2t
B 1.00 217, 383. 00 27,383/4.70H / 8H
MR ELNOY
% 1.00 81, 383. 00 813
& B 1E%HeH - 1.00K 82, 196. 00 82,196
53
£ WMIER Q) 2FEEZRY 1K%Y
2 b g - BIRTE By = BHoO(f %8 W = " =
BIEWHEE
A 2.00 217,000. 00 54,000
FSvo 2t
B 1.00 217, 383. 00 27,383/4.70H / 8H
MR ELNOY
% 1.00 81, 383. 00 813
& B 1E%HeH - 1.00K 82, 196. 00 82,196




RiEFR-FET/\vr—2 SHSEENEERENE
&5 4
B BETR ) EED)
# # 1 - FRH B g B # w = %
RBEE S4 b2 2
=] 1.00 3,288.00 3,288/2.00H / 8H
I R
A 1.00 44, 000. 00 44,000
I FR B
A 1.00 34, 300. 00 34, 300
MEHF
A 1.00 32, 200. 00 32,200
B A FRP D 70PSE!
=] 1.00 78, 209. 00 78, 209|8H
GNSSAI L& DGNSS
=] 1.00 25,575. 00 25,575
BEERRE 11 100kHz
=] 1.00 9, 256. 50 9, 256
HAH £ Y00
% 1.00 226, 828. 00 2,268
& B 1E%X8ED - 1. 00K 229, 096. 00 229, 096




RiEFR-FET/\vr—2 SHSEENEERENE
#5:5
B BETA Q) EED)
# # 1 - FRH B g B {f & #& #E %
RBEE S4 b2 2
=] 1.00 3,288.00 3,288/2.00H / 8H
I E AR
A 1.00 51, 000. 00 51, 000
I R
A 1.50 44, 000. 00 66, 000
I FR B
A 1.50 34, 300. 00 51, 450
MEHF
A 1.00 32, 200. 00 32,200
B A FRP D 70PSE!
=] 1.00 78, 209. 00 78, 209|8H
GNSSAI L& DGNSS
=] 1.00 25,575. 00 25,575
TILF E—LBFEAIFEE 36~455kHz
=] 1.00 338, 250. 00 338, 250
HAH £ Y00
% 1.00 645, 972. 00 6, 459
& B 1E%X8ED - 1. 00K 652, 431. 00 652, 431
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SHSEEMBERZAE

&S .6
& KFRAEMNO 1BHY (18.2km)
2 b g - BIRTE By = BHO(f %8 W = " =
REE S4 kY 2L
B 1.00 3,288.00 3,288/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 78, 209. 00 78, 209 |8H
RIS HRER
A 1.00 44,000. 00 44,000
Bl S H A
A 1.00 34, 300. 00 34, 300
BEBF
A 2.00 32, 200. 00 64, 400
GNSS;BIfI & DGNSS
B 1.00 25,575.00 25,575
BERIREE 15m  100kHz
B 1.00 9, 256. 50 9, 256
MR 2E0%
% 2.00 259, 028. 00 5,180
& B YEEREN 1 18.20km 14,516. 00 264, 208
&5 .1
& KFRAEMO 1B%Y (21.1km)
2 b g - BIRTE By = BHoO(f %8 W E " =
REE S4 kY 2L
B 1.00 3,288.00 3,288/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 78, 209. 00 78, 209 |8H
RIS HRER
A 1.00 44,000. 00 44,000
Bl S H A
A 1.00 34, 300. 00 34, 300
BEBF
A 2.00 32, 200. 00 64, 400
GNSS;BIfI & DGNSS
B 1.00 25,575. 00 25,575
BERIREE 15m  100kHz
B 1.00 9, 256. 50 9, 256
MR 2E0%
% 2.00 259, 028. 00 5,180
& B EZEREN : 21.10km 12,521.00 264, 208
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SHSEEMBERZAE

E5:8
2 KFREZ (2) 1H#HY (1.06km2)
2 b g - BIRTE By H = B ) W = " =
REE S4 kY 2L
B 1.00 3,288.00 3,288/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 78, 209. 00 78, 209 |8H
BIEFEHEM
A 1.00 51, 000. 00 51,000
RIS HRER
A 1.00 44,000. 00 44,000
Bl S H A
A 1.00 34, 300. 00 34, 300
BEENF
A 0.50 32, 200. 00 16, 100
GNSS:AIfI £ & DGNSS
B 1.00 25,575.00 25,575
TILF E—LEEBIFEE 36~455kHz
B 1.00 338, 250. 00 338, 250
MR 2E0%
% 2.00 590, 722. 00 11,814
& B 1E%fEN 1. 06km2 568, 430. 00 602, 536
59
¥ BATHE HEED)
2 b g - BIRTE By B = B ) W E " =
BIEFEHEM
A 1.00 51, 000. 00 51,000
RIS HRER
A 0.50 44,000. 00 22,000
& Hi 1YEZHER - 1.00[E 73, 000. 00 73, 000




REAR-ET/Avr—> SHSEENESRENE

#5:10
&% ZRBE 1EHY
% L g - BT & B H B B ' # IS w &
B = AR
A 0.50 51, 000. 00 25, 500
B = R Em
A 0.50 44, 000. 00 22,000
& Bl 1E%8E - 1.00[ 47, 500. 00 47,500
#5 1
% L g - BT & B H B B ' # = w &
B = FETRER
A 3.50 51, 000. 00 178, 500
B = R Em
A 11. 60 44, 000. 00 510, 400
B EBEDHH
A 11. 60 34, 300. 00 397, 880
REBNF
A 5.00 32, 200. 00 161, 000
AR EXENOY
% 1.00 1,247, 780. 00 12,4717
& B 1EX8ED - 1. 00K 1,260, 257. 00 1,260, 257
&5 12
% L g - BT E B % B B ' # IS w &
B = AR
A 4.10 51, 000. 00 209, 100
B = R Em
A 11.20 44, 000. 00 492, 800
B EBEDHH
A 10.10 34, 300. 00 346, 430
AR EXENOY
% 4.00 1, 048, 330. 00 41,933
& B 1E%X8ED - 1. 00K 1,090, 263. 00 1,090, 263




REAR-ET/Avr—> SHSEENESRENE
ES .13
&0 kB XLy
% g1 R - BIRTE =-Fivd = B {f & ) it s &
REE HEE GES)
7% 1.00 2, 415.00 2,415
& F YA - 1,003t 2, 415.00 2,415
BE 14
2 EFRER 1KLY
% gl R - BIRTE =-Fiva = B {f & ) it s &
XBRERE
7% 1.00 130, 000. 00 130, 000
& B ¥EZHES - 1,003t 130, 000. 00 130, 000
&S .15
&% mIERERAE X5y
% gl R - BIRTE Bifi = B {f & ) it s &
MIERERE
7% 1.00 42,000. 00 42,000
& F ¥EZRES - 1,003t 42,000. 00 42,000




